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Characteristic:
The instrument adopts the way of proportional measurement to
collect, Pblter, scale transformation, nonlinear correction and
display the measured signal. Compare the upper and lower
limits, capture the peak and valley values, power on reset,
manual reset (key, communication), automatic reset, zero
tracking and creep tracking. Sensor overrun record, optional
isolated RS485 communication, support Modbus RTU protocol
and active sending protocol. Optional isolated transmit output.
Support voltage output 0 ~ 10V or 4 ~ 20mA current output.
Double row display, 6-bit main display and 8-bit auxiliary
display, 6-bit LED display unit. Capacitive touch button with key
lock function. Magnitude bias function
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